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pitched trusses
(non-pararell chords)
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pithed truss: 1st solution
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static determinacy

Unknowns: 3 reactions + 21 axial forces = 24

Equations:  12 joints x 2 equations/joint = 24

necessary but not sufficient condition !
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‘external’ forces equilibrium:
applied forces → reaction forces
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‘external’ equilibrium → reactions
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internal equilibrium: section #1
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internal equilibrium: section #2
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internal equilibrium: section #3
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internal equilibrium: method of joints
only selected joints!
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axial forces in bars


